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SRR | T EE | sammenn | g xmma| axesan| g reaz] KB B HxHEE | BERE| W= BRBS| BS |[BtbhKE|sxcedes|svedes| Z3EE
m/s m/s m/s mm mm MJ MJ hPa % %
1:00|FIPE ElEd ElEd 26.2 26.8 87.6 0 0 0 0 o] 10119 70.6
2:00|FARIER ek fealeali 25.9 26.2 89.1 0 0 0 0 0] 10116 70.9
3:.00| £ 2l EED 25.6 26 90.9 0 0 0 0 o] 10113 71.2
4:00|FAEA R AR EEd 258 258 89.3 0 0 0 0 0] 1011.2 715
5:00|FIFI R Bkl 1| R E P 25.6 25.9 90.7 0 0 0 0 o] 1011.1 71.8
6:00| BRI R EEEY 2] 258 25.9 89.6 0 0 2 0.07 0.07] 10115 72.1
7:00] L7 A Az 27.1 272 81.1 0 0 1 0.6 0.66] 10113 722
8:00[ L7 Bl Jt7 28.9 28.9 75.2 0 0 1 1.35 2.02]  1011.3 722
9:00|FJL it RER 30.6 30.9 69.2 0 0 1 2.03 405] 10108 722
10:00[EHEIER RER [ Al 31.9 324 62.3 0 0 1 2.66 6.7] 1010.6 72.1
11:00[REE RER HER 33.7 337 56.8 0 0 1 3.1 98| 1010.2 719
12:00| & kD R 35.2 35.3 52.8 0 0 1 327 13.07] 10093 71.6
13:00[% 3 = 35.5 35.8 49.8 0 0 1 3.37 16.44]  1008.8 71.3
14:00 [ FREI R RER RER 35 358 50.4 0 0 1 3.22 19.66] 1008.3 71
15:00 | FI 3R 3 = 34.9 354 493 0 0 1 2.8 22.46| 10075 70.7
16:00[ 3 R Ed 345 355 52.9 0 0 1 2.22 2467 1007.2 70.4
17:00|ERFIE 3 EEA: 34.8 35.1 53.5 0 0 1 1.52 26.19]  1006.7 70.2
18:00[3 R 34.1 34.8 57.4 0 0 1 0.77 26.96]  1006.9 70
19:00({F4LE EEA A 32.1 34.1 65.9 0 0 .3 0.16 27.12]  1007.2 69.9
20:00[ % HiE JbE 30.4 32.1 711 0 0 0 0 27.12| _1007.6 69.9
21:00/dtIbER ElA: S A 294 30.4 78.7 0 0 0 0 27.12]  1008.4 70
22:00(7 i} fii] 28 294 84.7 0 0 0 0 27.12] 10084 70.2
23:.00|7 Fii] i} 275 28 86.8 0 0 0 0 27.12]  1008.3 704
24:00:00|FA R Fii] Fii] 26.2 275 90.7 0 0 0 0 27.12 70.7
HAE
1R R | 1 BGR | sxmmenn | S ARMEE| Sxromam R HERNEE W= BEBSs| BH [HtKE ERE
m/s m/s % mm MJ MJ hPa %
£35S 30.2 71.9 1009.4 71
X 3 HER B 35.8 91.9 10123 724
HCRF 13:24 5:39 6:03
=& 25 47.7 1006.7 69.8
HCRF 5:42 13:38 19:04
[ 0 27.14 27.12
BRSEE (%)
[ Jedbsm [ JesR [ sdtsE [ & | @k | Ak | pAmam | B fra | papara | [ FEdLAE | it R | kk‘
AREEES1—)] 1] 9.4] 14.9] 7.8] 6.3] 2.4] 3.38] 1.5] 6.3] 0




